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1 Exercises (25-30) P545

Relate arithmetic sequences to linear functions.

Lol Azt i o Al Aliie JSI RIS day, ¥ 3gasd) oo

3

25, —4,-1,2,5, ... 26. 10,2, —6, —14, ... 27. =5, =11, =17, =23, ...
1 4 7 2 1 4
28. —19, —2,15, ... 29. 5/ 5/ 5 30. 3733
25. 8,11,14,17 26. —22,—30, —38, —46 27. =29, —35, —41, — 47
Y L 1= R YITTTTT]
5 i [ * -10 2 346567%
—12 “.F -10] 123456 7x 10}
9 r -12 =15
—t ol v .24 L -25 9
ol 1 456 7% =3 P
:_.-A_.ig._:_ it — -36 1) I 4 35
~—6 —424— -40 ¥
l I L »_145 -1
13 16 19 7 10 13 16
29.2,?,€,? 30.—TA3.—3.~3 28. 32.{49.66.83
y y L
4 . : 5
1 hd —lgo '
3l . (o] x —75
{60! s
| . SN . 1Y ". ' 30 { o
1 —15
-10 2345 Ef X
L4 o
Ot 12345867 8x ) ' VY [T

Bl el Jio o Aol ddlize JSJ AW dzsy3l seal 4>

Find the next four terms of each arithmetic sequence. Then graph the

6,18,30,.92 54 6L 7B G, 3 B A B p B
d=18-¢ =12 e s 0 | do-11-(-19) =3 ce—y e s [Sn
Al N (2] o e daz GO J el 5 OV (@] Gk 5 g d=iz
54 o T
Fo 5 b9\ 25 O})\}J\
6o J=12x-¢ 20 i =8x —2%
50 * | 5 L d=
Ho ] le
_30 ] 1 1 5 L 3
mEE S zausex
lot—, Lo I
T v 23456 % fx -1
v

d,-ﬁypa//’jufﬂ):m?’mﬂnuvpuf\)ﬁjj(?/Vyf’)df\)‘wm)éwdﬁ’ﬁ

—

U/

/=
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Relate geometric sequences to exponential functions.

Exercises (14-17) P545

14. 8, 12, 18, 27, ..
16. 250, 50, 10, 2, ..

Ll I Ee o i e JSI AJEII ZNEN gl o
15. 8, 16, 32, 64,

1
17. 9, =3, 1, 3 -

3.
o

14. 40.5, 60.75, 91125 15. 128, 256, 512 16 22 2
y I by . *5'25'125
90 480
80 —420 251"
70 —360 200
60 —300 175
50 —240 * 150
40 180 1125
30 120 100
20 + —fﬁe . 75
10 :191’2'3455'1 —50
Of 1 2 345678 0x —
-10¢ 1

8,12, 18,27, 425 (6e-25 ( 9L.125

Gl adtizall Jio of dewain ddliio JSJ AW B3N s9al an

Find the next three terms of each geometric sequence. Then graph the sequence.

1
9,-3,1,—3, .75

L o=t L
(2% (B

Y=z = ANz EN g D | v= =2 oL AZUNA N\ 9 9
F e AW, 3\ dsa e [ e W1, 3 dsdrad)
Ak, ol ' &L JRe
o x=1 . s o 1
3| g=8C%) a«?\‘)ﬁs;)f;\»)‘d-f‘» 6 4= 2Ly
I’ -
s 5
ko s va.\:fioﬁaﬁ«)‘
30 . « Tl
e + \ L.S t' S é '? x
‘e 5 - ,_3 L]
:_lmzsf-tse;?i I
v

¢/

T

—
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Investigate several different types of sequences.

LS (e Adlida g gl e CaLASIL)

Exercises (12-15) P553

nz2.a,=

nz=2.a,=14

n=2.a,=0.a,=

nz2a,=(@, _q

—65n=2a,=-3a, _,+10.a;=5 0 s .12 ]
6125 n=z2.a,=1.a,=05a, _,+ 3 .xLJ >0 .13
27 n=z2.a,=0.a,=3%-1.410 s5J .14
8nz2a,=@,_p2-5a, _,+4.a,=3.200 .0.15

.nZZh‘qﬁ.a1=2 da,=

—3a

2 _5q

A1+ 2 -1 G 1] k) dullid] (i ] il i .2 JLio

A (e (S duongd) doud| s

o, = 05a

—

a o1+ 3l as) 13

3%n -1,

S— oA

ol J asd) 14

n_1+t4.a,=3.cl 015

adliie JS 3dongd! ol da gl

A, - 2 al-a_(ﬂcz)_l a5=&2{.2(3)—\ 0’4“*3*2“‘)"' 0{5-_0\%*2[5) -)
.:,\.:\o,l., =a, +3 = 3+5 = Jo 4 71 =17 4+ 9
= 2 43 - [0 =@ z @
-{5]
oo o i (JS il k]
2A. a1=3,an=(Qan.1,122 2B. a1 = §(an=2a-1-7/n>2
0y = =20 Oo= -2 &, | oy =-2(05) a;_=20x(—?r 0z=20 -7
= -2 (3) = —2(-¢) - -2 (2) =209 -7 -29)-7
O- = _2 (&) ag;ﬂl @‘;) Ly =20, _7 05;2@9_?:205%7:@
= -2 (- - -9 (ug) 22 ()7 o =205-7 -Zm)-?:@
- (45) [ 9« -Jis
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4 Exercises (18-27) P553

Investigate several different types of sequences.

e ld ol du i Ly Lee &l S COLS 13] Lo 3 yacls .18

il 19

8. 0,=4,150, ,n=2 1. g,=—> isaels .20

20. a,= —n®— 8n + 106 2. a;=—64,30, ;,n=2 il .21
22. a,=1,a,=4—-a,_,  23. a,=n*—-3n+1 S

n=2 24

_?1'2+4 _ _a?‘l—]+3 dyaels.

24. an =33, 25. a,=9,a,= 2 ,n=2 Aol .25

26. an=5”—:6 27. an=% +1 il .26

agylas 27

il 0] o ki (oed e Gl JS il 3] o B s L

S s M

Example 4a. a,=-3n+12 1o o || I
kN \ RN
Xy = =3 +12 =1 g = =3(5) 12 = -3 4 |
By = =3 CaYyny ook g . 3
o i __’?/"’o" = "ol T2 476 810 n
O3 ==3(3) 412 =3  mams peos3S e s\ | —4 *
- - | |
e & TN & B -3 [ I ] 1]
. * |8 L4 \
1 L.fa |
Example 4b. a1=36,a,,=-5a,,.1,a22 =80 3 N
|
a ¢ L (~4.5) 5 7 |
T bog ==-L(-%5) =225 ‘.|1.2. T ]
Oy =-4(36)= -8 = 36,-18,9,-435, 2.25,-).)235, 3 }
b3=-5(-18) =9 65625, — 0-28125 of L2l Bl o
5 - AT 1]
a_(f:»—‘;_(@) = =45 /\y?)\b)(_/jd_) ‘,LU/LU i ® ! l__‘v_.
Example 4c. an = i en
4n+1
|
af:’é:i__ﬂ__f_‘,: ~0-2 02: o-222.
(i) +l - o
03y= —s-23) C!l‘: o i & = L0251 . .
CJS: -+ -23% @y = & .29
&(7_— ey ch - O 242
Qg s ~a-24) O, = 6244 fjof | 2146 |8]10]|n
OLH = —\ok’eﬁ«‘t 0‘4/;_‘ 6-2U5
[ ik |
-025 > o

—0:28 o G e tdl & 0/ s
025 & On ;-;ijug,)ar’m b

P\ 573 oL ) TAS HEE DN e E0 T,
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5 Exercises (36-45) P553

Use sigma notation to represent and calculate sums of series.

ok oo JS Eoene o

8
36. > (6n —11) 37. Z (30 — 4n) i laa S Eaama sy
:1 n: 6. \ & 11) 128 37 _\:.‘.1 i) 0
2 2 ;
38. nZﬂ[n (n — 5)] 39. Ez(n 6+ b Puen st m Pel-wsy =0
15 10 LY (2-7) =33 DN (n - 5)] 300
40. >, (3-7) > [n— 92 —5) 267 e
n==8 n=1 b ) 70,707
6 ; @ 3 (-2°-9 =20 & 3 7%) To0e000
1 2n
42. Z (=20 43. > 7(%) w > sl 2 “ )23
=) n=1 . 9 : ’
44, nzzj 5(10n) 45. ,121 7

s e ot S e
Example 6a. 2(4,1 -3

n=1 = " . »
=) Laczy-3) 4 [ueanrs] 4 fuc uyet | o [ gs9-3]

g e = A R E: S £ S

T 6n—3 6(3; 5 7 [500 =3 [ém 2
Example 6b. Z -

2

|

n=3
6(6)3 1 [é(?)ﬁ ]
5 R
= #5 4+ lo.5 4 [3.5 + 14 + 19.5 =| 6%.5
S PR 3 3 7
Example 6c. ZW = T = Z - —= e = s
i = 6.1 +0:0F 4+ D.acl + 0 00T + 0-0000T 4+ <~ -
= o FIITTE
S N +
2
5 - = 3 b e T 7,
[l)f\_ (27 (37 <u)~\] [t5)—‘]
Z L L = J&[ililf[—? - =
iz 7S " . T

13 N = o 1 - 7
6B. Z(ns_nz) = Lf;J i ;f} L e i;ﬁJJ . £(9)'J—( f)] 4»[(“-)3—“0)]
" [(”)3_ ( HfJT [( 12)-( IZ)?jl * [L 13)-~(/3 JZ]

= 29% 4+ L4% 4 64 + Foo - 12D 4 158Y . 2028

T T
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6 Exercises (67-72) P554
Investigate several different types of sequences.
! iy & JS o
| a [ ha,
67. |16 n 6:: |24 a,
I |
- 12 18 .
I ]
-] a1 il | 12 14+ s *
_4 .'_. o _6
0 2 46 | 8n 0o 2 | 4 8n
69. *  70. T ia
_8 aﬂ |16 n
C o o |
4 i 12 {
! N 8 ?
O] o 2 4 6 8n [
[ ] ®
|—4 L 4 y 4
| [
I of | 2 | 4 gn
71. an 72. an
e -8 ® d _8 ® )
-4 h | [
? ; ol 1214 8n
ol | 2456 | 8n -8
4 ’ |
o —16 L d
,
4 3
a. a,=3mn b. ay=—-7n+9
4\" 3
c. a,= (—g) d. a,=8—2(2")
4 n
e. a,=9—2n f. an=(§) + 8 :

SRRt
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7 ) Exercises (20-28) P562
.Find the nth term and arithmetic means for arithmetic sequences
el AJLZe JSI 5ef anl) Walag S|
20. 24, 35, 46, ... 21. 31,17, 3, ... 22. a9 =45,d = -3 p—
23. 0;=21,d=5 24, 0, =12,d=0.25 25. a5=15,d=45 -
26. 9,2, -5, .. 27. ag=22,d=9 28. ag = —8,d=-2
20.0,=1n+13
21.0,= —1n + 45
22.0,=-3n+ 172
23.a0,=5n-14
24.0,=0.25n + 1
25. 0, = 4.5n — 21
26.0,=~Tn+16
27.a, = 9n — 32
28.a0,=—2n+8

Write an equation for the nth term of each arithmetic sequence.

gl dlize JSU Godl 3ol Aslee s

a5=-12, d=-

13,19, 25, ...

Oy =0 + (n-1d d=19-13 =

a, =13 +0-1)(6)

O, =13 46n-6

A,=7+6wu a, =

a\q_: 0‘-( -\-(Vl"-l)d
2 - ¢y 4 (5-1)(-4)

~12 =y + (=18)

—12 + 16

=4

0H=Ot,+(w—l>e[
O =4~ ("‘“\)(—L{)
QW:L{—L{VL x4

Qun = %—-qV\

/

/__ju//
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8 Exercises (14-19) P562
Find the nth term and arithmetic means for arithmetic sequences.

chalus LI S O ad) L) aad) oo
14. 2, =—-18,d=12, n =16 15. a1=—-12, n=66,d=4
16. ay=9, n=24, d= —6 17. awg _J audls =5, =12, =19, ... —
18. a0 —J aedl —1, 1, 3, .. 19. ay4 _ &L, 8.25, 8.5, 8.75, ...
14. m lH ll l: n “l 162 15 (8 l:, n 060, ll ‘ 248 L
6. 0, =9,n=24,d=—-6 —129 17. ays for =5, =12, =19, ... =103 N
18. ayfor -1,1,3, .. 17 19. a,, for 8.25, 8.5, 8.75, ... 14 N
Find the indicated term of each arithmetic sequence. a-glw a-_g.“ﬁ'.b JsJ d-_l_-l!)ldilﬂjl A=l >
ai=14, d=9, n=11 ais for 12,25, 38, ...

Qw = 0‘, -+ CVl—'L-)d

a 4 4 lo(9)

)

Il

Q” - lo4

by = A 4 (n-1)d

a 12 + 172013

1

g

a/3 = 233

!
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9 Exercises (35-40) P570
Find the nth term and geometric means for geometric sequences.
adliie JS) dewdigd) Jolug¥) s
35.810,2,2,2,10 36. 640,2,2,7?2,25
7 56 729 324
31. 3, 2,2, 2,47 8. 22255
._2 9 16 [Ty PR ..} L‘HJQ_..U_Q ..La.-.40
35. 270, 90, 30 or
-270,90, —30
36. 160,40, 10 or
-160, 40, -10
7 14 28
37.; 9 27°
714 _28
Tt Rl
38. 22, %270
243 81
A R
39. 15,75
40. —-8,4
Find the geometric means of each sequence. Adlie JSJ dewsigll .blwg‘}” A>
0’| Qg G, ai—(—
025, 2, 2, 2?2, 64 3,—,—,375 <375 9 3 {u rewain Guabaog 3>
O - Qf rn-l - a|:026 /Q o /d/ L,M' Findtwogeo;n_e]tricmeansbetween33nd375.
5.l —— Qu=Q, r <~ o=3 (alfzj;'ﬁ/r,u,,;\.n
Q- 0625 (r) AN K el & 0= 5y - -
4 . 4 Ay =3 ¥ SN J el v 5
64 = 0257 - . ¥4 ¢ ~
x X ,(L.\ 1(‘+ 37_5__37‘ g 'JJIU.,
> > g e p A
o e 025, 1 477187 6y . A LW LN
°-25 x-f,;yu P >335 . 3, 15, #5 3%
R W T 0.2, =177 LN ey 3 ; - '
=3 \oa2s 1 ==y

U/N/

.
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10 Exercises (47-50) P570
.Find sums of geometric series
7 8 10
47. ) 4(-3)k 1 Z 2)k—1 49, Z k-1 50. > 5(—
k=1 = k=1
—
8 9 10
47, > P48 ) (-3)(=2f ! 49 B (-1)@) 50. » 5(
k | A 1 A 1
2188 255 —87, 381

Find the sum of each geometric series.

6
Z 3(4)k1
k=1

-1

J;l)/(J‘:; kih = a|-‘ 3(‘!{‘) - 3
(6-\)&! = 6 , 5= Y ot
S . Q o, r"
w oo o,
.3 3
- £
- Lo95

4

Ao i dlacdensio JS goaxs s>

>3

k=1
D) = k=l = a, = "—f(!;)ilz 4
n= B-1)6) =8 r=% <ol
Sv\ - am‘:f.r
q-q(’;_)%

- L

P
- 255 - .97
32

10

Oy
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11 Exercises (44-49) P581
Find sums of infinite geometric series.
Ay o) Aolgd Y dlwlaio S §oeane >
44.7 21 , 63 45,15, 5,5 46, _16 L &
...+20-+-80-+- 4+2+3+.. 9+3 1+. —]
a7. 242+ 0 4 a8. 2224 49. 18 ;12 §+... )
3 7 7 7
Find the sum of each infinite series, if it exists. 47, 48. No sum exists \
21 63 28 - e - 45 16 . 4 _64
M s+55+3 % 45.343“0.4 46. —5+3-1+.. =53
15 5 10 -+ e 7 18 , 12 8 54
4. 5 +7 s 8. Z+7+5 9. -+ -5 -3 N
i 0] e g G LR i e ot S S 131 b0 ik g O R bbbt JS § e
Example Za -+ 6 +E+ Example 2b. 6+9+135+2025+ ...
15 ' 75
9 —
- £ .= — _?_'_ . = _-_ = 1.5
r = = g = = 6 <
&F Uoigl'l;,\;;:\)..l_l\,_b Itl<) Gy .Cfb’o—:‘c_i s s\ £ WU AR L AT
S- % __= =
\—-‘r \-—-a.é 3
2A. 4-2+1-05+ 2B. 16 +20+ 25 + ...
= % _ A = 20 — )
Y = r Z =
&7 b aid i g6 Irl<) o3 PR AR FTSE-ARS WP WEA ARSI b2 I S BN
S= & . _4 X
- - (- %) 3

11

S U,
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12 Exercises (35-40) P581
Write repeating decimals as fractions.
.gal,‘.'i.sl,.uSSJg.agﬁg”a g,ﬁm,—.&._jsh_ﬂl
35. 00.321 36. 0.145 37. 218
— —— — \
38. 496 39. 0.1214 40. 0.4336 —
Write each repeating decimal as a fraction, |
53 o 8 - 24 N
35. 0.32T =—= 36. 0.145 — 37. 218 = N
- 164 s o1 601 ,’11477
38. 4.96 33 39. 0.1214 2950 40. 0.4336 100 \)
(S| il 55008 (F 5109 Sk it 2 timial]
)
Example 4. 0.63 \))W
o,é_g SO 3. L s 0065 O-0oo0oéd 4 ... @:\_‘) \ Q
N ooty 47 2L ) a2 N N
063 o - -
w2 563 = 8 = ‘C“ = ?'63, = |3
—f e '
@
lpys Nz 0.43 (36363 .. 5 O 5 LUl gl
= 100n= 68,6363 ---- = n = 3. [2
99 I
4A. 0.21
D.:L_\ = &R B BF L LA GaodlA P o CD :\FQJ_\D-“
¢ = c.opl L ?a,‘jb,,ﬂ?u_/,‘ﬁ i WA W
.91 (oo / =
—= ofs__\ = S o S~ 0-2)\ 3\
\—y £l el 33
@& b
b v NI |\ Inc 2N o) 2
3. lvow= F1. 7GR w.=_ B
99 33
15. 0.642
. Ll —  b.L4 + 0-00084L L 6. 0oo soebBE . e - Qe )
V. ®oeokur | T i TR
3 6. LU i looo - -
O'GQL =, S = (% 4 N = 6.6 = 2\4
= Wi [ %O 332
@
Loi n - o bt 642642 .. ) 999n= g4z c')-:aj)(;_“é'g/
sy fpeoy o $4T 64T G42 . o v 42 _[ 24
999 335 4 12
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13 Exercises (24-30) P589
Recognize and use special sequences.

Al S L) S die iS)
24.16,10,7,5.5,4.75, ... 25, 32,12,7,5.75, .. 24,4 . =050,+20=16 ~—1F
26. 4,15, 224,50,175, ... 27. 1,2,9,730, ... 25. 0, 41=0.250, + 4, 0y = 32 (\\1

26.0,,,=(0)°—1%0,=4 N\
28. 9, 33,129, 513, ... 29. 480,128, 40, 18, ... 27 ‘ 3 L . \

C 0y =@+ a0 =1 N

30. 393, 132, 45, 16, ... 28.0,,,=40,—3;0,=9 )
29. 0, , 1=0250, + 8 0; = 480 \
30. a, =+ 10,=393

Example 2a. 2,10, 18, 26, 34, ...

1+ 1 2

J N

el bt el JRd ) e S|

Example 2b. 16, 56, 196, 686, 2401, ...

1

deto-2-(Bl ,ualoaZU Papp | r= 56 li\ Adacpalldl LT kot
— N T G = 4
o L2 5 ) L) ane
:Q;i = aﬂ_‘ *J Er"«/x.o)la_x\)’-‘-j\),q/,'ﬁ'w‘
J 7 &M = C(M_J x Y
7 s
Example 2c. a; =108 and r =3 2C. az3=16andr=4
PR WA e 1| QD ST
M—f ’f‘ / - - - —A
O, = & ng Qfﬁyi)‘:&df Q, = | xVZ g/dlaﬂi»ﬁ-i’
aq = 01‘ > 3 QS — Qi x L{-
log = & * 2T 6 = o x 16
= a, = li_g, = 4 a, = 16 — |
> i 57 === ! i
— — .
o) Sl asd)) 2, | Q)7
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ﬁM N an_! Xy DAM - C{M_I X
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14 Exercises (8-11) P589

Recognize recursive functions.

Jallaag)) &de¥) dell Aaudl Wy JSI g% & Cl )l S do

8. flx) =bx+2,x=8 9 flx)=—-4x+2,x=5

10. fx) = 6x +3,xy = —4 1. f) =8x—4,x=—-6 —~
Find the first three iterates of each function for the given initial value, \k
8. flx) =5x+ 2, x,=8 42, 212,1062 9. f(x) 4x+2,x=5 —18,74, —-294 N
10. f(x) = 6x + 3, xp 4 —=21,-123,-735 N f(x) =8x—4,x; 6 —52,—420, —~3364

7— /

S| el i il Al S Jod Sl il

33. flx)=12x+8,x0=4 38. flx) =4x2+5, xo=-2
= (2((.{) +3 =
-
X, = 4H(20) t5 =
k5
= (12 (5s) <% = xy= 4((249) t5 =

X3 = t(x2) = £ (48°)

= (2 (6@"«’) +8 =
41.f(x)=x2+2x+3,x0=% 39. f(x) =2x2-5x+1,x0=6
K= () ea(E)+3 = Xy 2(6) =50 +| -
. 2
¥y = (4.25) 42 (425) +3 = Xz = 2(u3)-3S(43) xl =
z 2
%,y = (29.5625) +2 (29.5625) +3 k3= 2 (248k) — 5(34ga) |
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Use the Binomial Theorem to write and find the coefficients of specified terms in binomial expansions.

Exercises (23-28) | P596

(y — 3x)0 _J o)) us) .24
(4x + 5% _J Losld) asd) .26

(c+ 6)8 _J ) J) asl .28

Find the indicated term of each expression.
23. third term of (x + 2z)” 84x°z?

25. seventh term of (2a — 2b)* 7168a%b®
27. fifth term of (x — 4)° 32,256x°

Find the indicated term of each expression.

23. third term of (x + 2z)7

= 7 C?_ (K)SCLE—)L

= B4 x> ZL

et S ad) HLdgd) Aol dr |
(x + 22)7 _J cui) asd) .23
(2a — 2D)® 1 wlu)) as) .25 \

(x — 47 1 Lualsdl asd) 27

24. fourth term of (y = 3x)® —540y%x? Q
26. sixth term of (4x + 5y)° 75,000xy°
28. fourth term of (¢ + 6)* 12,096¢°

a5 JSJ 4] jLiall sl s>

26. sixth term of (4x + 5y)°
[ 5

= 7 S X 35

15
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16 Exercises (1-4) | P635 ~
Classify study types. \)
\

Ligione 7581y ckictd) 30 of « i duf)yd ‘.i 2,,3.;‘.? L Mai! Cauay adge JS (IS 13 Lo 20> |

a1yl S Colias) ﬁ\
Saduid ! ol USRS WRIIE IRYC B RUSTTRURY STITT DU SEYOR Y S PORTL N
i i) M g Slas ¥ [~
.@3!3’ I 18,Lse 20 L asas ylas pasad Hlas) (Ae¥) clS )l gus) 4y 5 pugad .2
gﬂl’lﬁ’lj Jlg*.iai_&_;w_.i;bh_\_.a_,ig
a8l ¥
X pal ¥ L ) Al ya 'al u‘,:ufnl ijh.ualdpl ol ety adge JS oIS 13 Lo sas Solud

R g,....r A

oMy 4.!)'-“ ¥ f“l LSJL"""J!' JL._.;-'X] uﬁ uJ_r_| |_|L>-J: e |5J..a_>- A% _,.._1-2'1 u_‘JagJ] .:;l,_aJ? E—"L'r' uﬁ
ey ) Uﬁ 198 ;Lin o cpdd) agladl m;._\_aﬂ
dical) colS 15) Lo aoasal dwlys oo ¥ B33l pw 45,8 o) G pud dadasy Dol ad! .4
YPiMSOA@W@A}ML}:hM’
sdial) tdovue )y 2
rawl ol GBS Lad]
:3'.4.7.“ :ULL.AJ-;E" c_,._v-._g_]1
Cigkeasngd)

u"J1 Lladl alas i, f""" rdu>3ged) LIV tdmins aul ) 3
Al ;aJb m-ﬁ;-'l-' G9 Letsleeg a5 LAl La ) ou

o diwe Hlas) ) aslad) gens (Bg s dndged) Bl Y) a0 L4
el yadls g8l Cagw ical) 3181 o) s Les 2 gradd) glasgall

16




@j&lﬂm‘uibm/w).\d\d&
050-2509447

https://t.me/mathbook{IADV
adiiall jdie gaall soud - 58

@ https://t.me/alllaaam82

17

Asilaa) Al dx)

Design statistical studies.

Exercises (18-23)

P636

o G 7D I Sunie OIS (3l unie il fiunie £3UATL YL Yl US OIS 13] Lo 3a>

Soeasan panll 5,50 Cialay Gl Ao ) dxlow dw,ael) of azis Ja

Tassae Jby pl @sld s caasis g paal) 5,5 G s L

Qd».._u.u_)..\..n_,:n_c :L'ale; LQS’ u.uJLas .J.A

Qi o)) ) paslas wie Hliall UL LS aa8l,s i wb 33ls ¥

asalase cpddl dalai ]l o2 oledd) sae o gatwl o) yo) ddad dalaie oy, detoloud) Al jud)
aS) @ Slas¥) paamd) 7,58y g Man ) o Dagd) S5 L aeld) A jadd) ass dasledl Gl

das o) ) &S i) coalsg daws¥) oyill alie e guedd) Bls cro S ilaee byg,l yolie cmas
cobaeadl o p o @b adid) e dwlddl o Gl () L:,_..;‘._:..._l!' gébjl

o Ll 5ty o0l a.JL?__w} 23

(o usiu 4—1&"-@-] dcgonally
_JQ_.JQ.LaJ' L_,E\g .L'vg):l)l i:."j Q'M_‘n_a
e basy) B a5)ad) dxja g s
o] (e 93191 w2 ) t‘a):‘)] u—"’
b5 oo ol lallg 25
e bl oia o 33g>g0)]
Bt b L, B8yl

EMat U psasie jud i

13) al) (o by gl el i) ST Jlais) llia oS 13] Lo st (oS jarliad) Juodlas gam] a5 1 ponl

b rlie sae e ol do )] degemed) colS b ,iiie) e dewlond) Cirs cro o)l 139390 LS

el aaslal) degorally (ol i) e dloed) o Jlsr ) Guedd] (Bls Ja G a1 Gl
bl e dcwlend) cans laa ) Lgnd Guedd) B Jad o Lig ] o2 s>l (e

ey cdurgend) Bla¥) 5oie 21
53Lad Faass asls| e (lau)
gals sy JLL raas " aalgs W1

Jsadlss of I edasa)

o8 wbedd) sae asass scaagll 22

Sad¥) 8 ezl ) aabslag))
riggalil) als o) aay &SI
old) prex las¥) el
1 riablid) 3
gy Cs ) B )]
ads’ LS glecitl Biass L
Sz sl

\_7)
<

B =)

gald)

JUNELENPIED BE S POLT NS LR
thiss Ja :panand e Jlpwll
Bugie Bl Al ) il
s (ol Rl glind I o
Y gl was Coalag gl

A radgadl LX) e
SHdby cdand sl Jlad)

18
19
.20
.21
.22

.23

18

q

~

19

17

’U—/uj




e Al ilaeaa [ (il Jas https://t.me/mathbook{IADV

https://t.me/alllaaam82

050-2509447 pdiial e slall g - 3

siliall slaal) waadl Slasj gill Ciliadia aladial
18 Shapes P643

Use the shapes of distributions to select appropriate statistics.

ol 5y o) "_',a G s lad) 95 Goaical) ladass alasviw) ‘:,...ul...u:fi P3'6-"¢-”

! 953 ke Sileie Sl g fide

B — = b H

50% 50% ‘ 50% ‘ 50% ‘ ‘ 50% 50% N >
aUm UL: dcjsa Jm-wa“ ey daws]) L Gl L:-LC dcjsa Jm-wsjl |
S aadlg)) blad! e s ) aadlgl) bled) o s Q
dJ_LnL‘gJL_iLiLHJlS AR ._)Lu.l;._” dJJoLﬁ_lt_aLiLHJlﬁ J._\_l.,_._q_._l-“l -
‘L.J:"o’."” UJ! 'JL“L.‘_” UJ] N~
\ S
5) (ol 1) cdbaadt o132hd1 53 aujpalhiilose (o 2oss 92 (b Lan g
Which of the following is a characteristic of a negatively skewed distribution?
A) The majority of the data are on the left of the mean. ™ Lougall jluy J) SUll el aas
B) The mean and median are approximately equal. Loyas Glslads Loguglly Lasgill
C)  The mean is greater than the median. Laiigll o ST dasagzll
D) The mean is less than the median. Laguogl e Jo Lasagall
6) §( oneall 1) camsll elgal¥l 93 ayjsll uuaww,aubm‘st
Which of the followmg is a characteristic of a positively skewed distribution?
A) The majority of the data are on the left of the mean. Lsogall sy J) Sble) il s
B) The mean and median are approximately equal. L35 Glgluaia Jagoglly Laugall
C) The majority of the data are on the right of the mean.  Jassill ttes J) Sliludl el ass
D) The mean is less thanthe median. Laasll e J31 Jaegall
7) S JLaalPALiaal Silase (o Aase 98 s Laa
Which of the following is a characteristic of a symmetric distribution?
A) The majority of the data are on the left of the mean. Logall sl ) bl el ass
B)''The mean and median are approximately équal. Loy pliglute Jalliglly Laiigall
C) The majority of the data are on the right of the mean. il taes JI Slldl el a2
D) The mean is less than the median. Lauagll o 31 Ja gl
18) plasrcl J) 7zl calilats Cranies ylal
To compare two symmetric distributions, you need to use
A) Standard deviation only. Lazs s lall bl
B) The mean only. Lazd lagall
C) The mean and standard deviation. Solaall als¥ly Lasgall
D) The five-number summaries. Az slusY) jakls 18
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.Use the shapes of distributions to select appropriate statistics

Shapes P64l

dsgilelly alileied] calassenl) (oibes ] @ ogiod]

| 90 gilo 82598

g !

U 1)~ el

sdaceargdl s mS) dacugsid) @
S ) sblod) colaf azs

Pleio a8

t
Obaluie darwglly

Jn_a.u_g.'i_q.” [ ]
Iz 28

Sl 4o gibe g3

Y

dacugzll daingl!

dacusd) ora JO daiigaiodl @ (

gzl woluwddl de oo bled) @ PPN |
dagid) Lols S Lle )
= )
\
u.s.lg 4.3..\.1 LAJL:LI:LI!B L_il..ll.n..c.” JS_,_,Q uL..uS_La_.m LSJLA_‘..QJI J]_,..:-uy]_g J:x...ug_._q_” ulﬂ }leLu-A.a PJ&.J! 95.1 Loace

aJLs J.ul..: I.é_l 43_,.1:.;_44J] i"‘""” LJI J.SAJ Lal.q; 439.19.:: ugs.v UJ u_il.a..\l.‘.a.:-?“ ala ul.ﬁ L}_g.a.La E“J}‘J! LJSS" Loace
‘Lsg_n.La e__i_,g..n” u?ﬁ.q La..\...«.:. JJ J]J.L LJJ_LB ] Ls Jﬁ] Jn.._mg.” ,_,95_» Lq.au..l L_ll..xl.._..” 4.:._9.4._'7-.0 Ja_mg.....a U'L“

aenl) ilalaatl Bl sumd wnibls degems Judoz] _,.JL;A chas) jlas) aue

Which of the following charts displays a
data set that is positively (right)skewed?

—»—'lal-.-e—” 4-,-9J|—"- (ro HJ‘JL*

bl

Sl Aegana payn A Slllasll e gl
$(neal) ) rga elyl 213

18)

To compare two symmetric distributions, you need to use

plasial J) 7l alilets crasses 4ylad

A) Standard deviation only.

lazs gylall 1yl

A) s

B) ,

B) The mean enly. s Lagall 0
C) The mean and standard deviation. Solaall Calms¥ly Lasgall
D) The five-number summaries. Azl slas¥l yaxls

10
s
6
4 D)
2
[

3 4 B B 7

—Nwawvo

' 2 3 a4 5 ¢
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Exercises (1-4)9 (6-9) P655

Construct a probability distribution.

e ) ) - uale o) adio 6] e aioy 82305 US B Hlediall sudiel) 30

oy Ay ddad o) Olsaall sae
E..:Bg.g_,.d_‘i_” das ]l &L’ ng 539.:5-9_4.” sl sae 2
Lgss gaed) o) 5 HUae¥) Jolas jlans .3

Bae da) 3,0 P gk pbls e o ) Ollewd) sae 4

TN

o ) Tl - e of o bl e sy (22383 JS B lpdial) yuiled) 20
Eoua) S aeliad) Bl d) sue .6

ool dmias lle ¥l sue 7

Fons dra) 5,58 aay ls Jobs .8

SigueS)) g ud o 8y paied) clald) sae 9

sae 38 X plgiall ) .6 sac ga X Slgdnel) aaldl L1
o i "—c—*s uw gl oy Ay idad ol Silsaal)
duazie X inad) 13) caall alls 3] el ELID odscaally s
sac ga X Sledall szl 7 Lemae X jadzal)

Sbloe ¥ .oy dmmay Sbloed) sac oo X Slgdall il 2
drazie X aazdl 3] laae oS A3l ¥ Bags gl callum)
Lo & Jobo ga X slgduall izl .8 Collased) . aogsjal)) dlasll
e LS b S ol Jslall S old 13) aal) L1 dogsalsl)
feate X juiso)) B sitaey caie Jeasine X izl

sae oo X Sladnad) panldl .9 Jane g X Sladial) joandd) .3

gols ug iy Canual i) calalll
5 eslal) . saa Sl 35yl
Jiaase X szl 51 Lnas

bt s gika ord ASy Ll
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21 Exercises (11-15)
Analyze a probability distribution and its summary statistics. P656
Laals pbl sae J) JlasY) gosen)) gong ) Jadls 1.1.3? A ]
| pasin) agl) dagdl dujas B el alad) J3s wltd)
3.34 pladl o gl ol a5l saal) syasd cilesladd) aia \
Ll B ) Bl albi due
= \
1 2 3 4 | s 6 7 | 8 R
01 015 015 | 025 | 01 | 008 | 0.05 | 0.02
el an )l e olatll deung (aBlay 52 (o 5955 i gal) SlBlas (o degars duw g2 By 12
7 Sicsonel (o Loladie Ly o5 dBlaJ 2092)) d00 L .2 Y
1.75 Tel o) lBlUa ) p9gaed) saed) Ld . Jlacw¥) ao 7 ey 13) b
35lr argi daslgl @Bl L) AED 5 (flas ablay 100 coas 15) dmbuse) Jlaas¥1 gjenll Jsand) gong daslue .13
?‘,J“}"-” by gl ml}:ﬂ 13c AED 25 L JS aed j3lg> 10 5 JAED 50 Lo S a0d 3ls> 5 5 AED 100 Leied 504
g Adell pasid) 1] a5
tlee joall pBgn 3 5421
sl Ay 2> AED 0.20 AED 25 AED 100 | &3le oo
ka3 . Jlllg 15,5520 jles =Tl 010 | 005 0.01 0.84
on o3 WIS asl) )
s 1 calad) e il Lole gl Pl pjeal) i @
celaidl 5lus anlll aia AED 6 @l a3 n - b
e T Semammaal! Jo> azbiz) 2liSe gill Lo b ool L8 Lsass o)l okl L5 .C
a_._LU' :1)_'?-" pdc 3.‘ JJE—"‘-“ = < =
) e e A st il ey ] 1
= RV S| SO U8 SOV 0N | S N P g [ PEE [P 1 |
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3 0 lglone 50 sl s 1,55 Jpar 200 b
0
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LoSe 15) 4.2 ga ghsnad) sanll i dead) Y1 4.2 142 -
O 0% ¥ ) Lag oo ol 4 Gl o gdgn o T
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theordgend! Al :4.34 15a T A E R SN JUECY | R PN | BSOS | SO
4.34 42 abgigdl 20l ) ’
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22 Exercises (13-19) P665

Find probabilities using binomial distributions.

Jesd 2oy g 28lhan s Jlozs) msaseal o 53 Asymd ol dawggad) Silflias 13
Gas it 2 Gl o8 S Eegance g5 13 o 12 4] 11 2iel) —
) & dadly G od) YL Y -
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.Find probabilities using binomial distributions

P665
Exercises (20-26)
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24 Exercises (3-8) P675

.Find area under normal distribution curves

—11506=26,1=22, X=19 4513 z .3

| /

66.99 0=13,p0=64, z=23 ;515 X
243 0=37,40=43,X=52 4513 Z .

\J/NI

—2140=28,4=38,X=32 5132 .
55.97 0 =41,4=49 5z =17 ;513X .

—
—

=5

4
5
28 6=04,u=27,2=25,515X .6
7
8

N
.@g\,.aya.;ul.__;lp,ij_*.,_-_.;;:)(_“J;I_;;,_,s.u_m Sbls degems B8 Dbl Gz dslsd) Z 200 —
7 (golered) (B1,53¥1 48 O

O Vouube™™ 5 ~8 '3 L | b L NS s

W‘t’lw w:ﬁ‘ f.‘9 i - ’

R
a.zif X=24, y=29,and 0= 4.2 zoz.é W 29 3he AR
= =\ o \ T
z = X=K oz 24-29 = =25 il VXY
o 4.2 2)

b. Xifz=-173, yu=48, ando =2.3

2 = AR o mNOX NS =X = —\73(2:3) 4 4R

& 293
it ] = = 4y.o02|
2A. zifX=32,4=28, ando =17
Z = X”N A 32 —2% - HB o F.3E
c’ .7 i ]
2B. Xifz=2.15, 4=39,and o = 0.4
20 K2 . pas= X329 = % = 2.05(0.4) + 39
o -4 - 29.%6

= 2.|5 (0-“) = X = 39 28




e Al ilaeaa [ (il Jas https://t.me/mathbook!{ADV % https //t.me/alllaaam82
050-2509447

adiiall jdie gaall soud - 58

25

LY LRY) olae) 25 Sl ad slagly cdsnadal) Slasj gl Y Laal sla)

Exercises (9-10) (17-20) P675

Find probabilities for normal distributions, and find data values given probabilities
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